DAY 2 :: Task 2 :: Solution 
This problem comes from the problem of data allocation in a broadcast environment . The task is to allocate data to a given number of physical broadcast channels in order to minimize the average delay for a data item. When N i data items are cyclically broadcast on channel i, the expected delay in receiving any particular data item j is 
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, where 

d j denotes the j-th data item 

C i denotes the i-th channel 

p j denotes the popularity of the j-th data item 

In order to achieve even better execution time, one should come up with the following idea: 

Any two partitions, for two channels C i , C j , if |C i | < |C j |, then [image: image2.png]Vd, €C,di€Clpy 2 1y



, where 

|C i | denotes the number of data items transmitted by C i channel 

It can be concluded that the first channel has always less data items than the second, the second has less than the third and so on. Thus, the search space is reduced and the problem can be solved using dynamic programming. 

